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( ) 1.Chicken and fish are substitutes. If the price of chicken increases, the demand for fish will

(A)increase or decrease but the demand curve for chicken will not change.
(B) increase and the demand curve for fish will shift rightward.

(C) not change but there will be a movement along the demand curve for fish.
(D) decrease and the demand curve for fish will shift leftward.

( ) 2.In an hour, Andy can make either 6 pizzas or 12 pies and Chris can make either 6 pizza or
18 pies. advantage in making pizzas.
(A) Chris has an absolute

(B) Chris has a comparative
(C) Andy has a comparative

(D) Andy has an absolute
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( ) 3. Refer to the Figure above. The price ceiling causes a
(A) surplus of 40 units.
(B) surplus of 85 units.
(C) shortage of 45 units.
(D) shortage of 85 units.
( ) 4. If good A is a normal good and income increases, the equilibrium price of A and

the equilibrium quantity of A
(A)rises; increases
(B)rises; decreases
(C)falls; decreases
(D)falls; increases
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( ) 5. In the above figure, if the firm is in monopolistic competition, quantity produced, the price,
and the economic profit will be
(A) 40, $2, $80
(B) 40, $3, $40
(C) 60, $2, $0
(D) 40, $1, $40
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( ) 6. 1R EE - SRERAARAVAETS - T IR L ?
ABEEEENSZ— BERENSZ= -
B EEAE S HERE_ T2 -
O EERE=r2_" > BEAE=1r2—"
(D) £EHEHAIE -
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( ) 7. BESEREAE 12 5 105205 A9(EAS B $5030 5 ) 1 00FHEE st - SRR ER S KE12H 2058 T
B > PRIHEE TR E$30300 H 8 H20 505t s - ARIELL Figit » (& AE
(A) BESHASII(ERS ES KT8 M f fEoE M
(B) Eostiste v EAS T KB M B
(C) EEFtiBtr M EAB (Ht4S T8 M Ay 08 14
(D) Bt ES (HAS M R 5 M
A% 1 2 3 4 5 6 7
R 1 $210 | $340 $490 $660 $850 | $1,060 | $1,290
B2 | $180 | $350 $510 $660 $800 $930 | $1,050
B3 | $120 | $250 $390 $540 $700 $870 | $1,050
gga | $150 | $300 $450 $600 | $750 $900 1,050
( ) 8. FERETAZ M EHIMEERA - 1R % WK EREEERETARBEAL
T ?
(A) MR 1 -
(B) W2 -
(C) WERE 3 -
(D) iP5 4 -
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( )9. fRiE LB - B THVUHBEERER R
(A) A.
(B) A+B.
(C) A+B+C+D+E.
(D) F+G+H.
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)10. B Ry TR EFERIREE ) A T QKEFIME | AT EHIE HERES kA - s
FEEEREME S B EEEIEEE ?
(A) WEHBEEE $40 HYEE
(B) "RELEEFIMLE  BIEEM $40 0 TQKEFIMEIE , BIFEME $50
(C) TQKEFIPEE | BIEEE $50 0 "REEFEFMEE  BEEE $40
(D) WiEEEEE $50 HIE(H -

) 11. Macroeconomics does not try to answer the question of:
(A)why do some countries experience rapid growth.
(B) what is the rate of return on education.
(C) why do some countries have high rates of inflation.
(D)what causes recessions and depressions.

) 12. All of the following are measures of GDP except the total:
(A) expenditures of all businesses in the economy.
(B) income from all production in the economy.
(C) expenditures on all final goods produced.
(D) value of all final production.

) 13. Assume that total output consists of four apples and six oranges and that apples cost $1
each and oranges cost $0.50 each. In this case, the value of GDP is:
(A) ten pieces of fruit.
(B) $7.
(C) $8.
(D) $10.

) 14. Assume that apples cost $0.50 in 2002 and $1 in 2009, whereas oranges cost $1 in 2002
and $1.50 in 2009. If four apples were produced in 2002 and five in 2009, whereas three
oranges were produced in 2002 and five in 2009, then the GDP deflator in 2009, using a
base year of 2002, was approximately:

(A) 1.5.
B) 1.7.
(©) 1.9.
(D) 2.0.
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) 15. The government raises lump-sum taxes on income by $100 billion, and the neoclassical
economy adjusts so that output does not change. If the marginal propensity to consume is
0.6, national saving:
(A) rises by $100 billion.
(B) rises by $60 billion.
(C) falls by $60 billion.
(D) falls by $100 billion.

) 16. AERANT 5 B TERERAI T H = 508k, P S RTAR B HHE BE T LU (A)
RSk R, [ R PR (R B A TR
(A) FEEAFRERR, FIR R EERERE |
(B) = EAEIAR, FR AT EELR
(C) RETFHCEFHE FEREARTSRHFE Z A
(D) MEE-ERER FRE AR SREFA Z A F

) 17, 5 gRIT AR T S B & R TR D7 VA T B SR T R R Hi K E <
i ?
(A) RS TEE
(B) RS ALERE
(©) RESEMER
(D) HREEHAIR

) 18. FHIAEWAIERKEMIBHYIEH F ?
(A) FRFERITHERIEEFK
(B) PARIZRASRATHISETTIFK
(€) E/NEFIRITHIS S FRK
(D) B/NEFHHY+TCRER

) 19, PESEECERERE 025, BITESRITRIA 100 8, ReEEmginEBitens
KEER: (A)100 & (B)75 {& (C)400 f& (D)300 {F -

) 20. AFHRA BB ERNREZ MG (A) £ B) KE (€ FETD) 77
FE
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1.

PR X B2 Y BVRBUHRER U=XY (MUx=Y »MUy=X)- X B Y 0yEEER 2
MFTEERFrery 8 -

(a) 35 P EE R TR PR I 4R BT iR I Y SR R h 4R Bl A BB R IR (RS TR - IEARRE
Z ° (1053)

(b) }45 X HVEMS TR 1 SHERE S E L HEIRGIGRE B TRAIR AR
L 4R S A B SR » SO AE B R AR R X AO(ERS T BRI AT G R B A URUR AR
BRRFRE) - (1057)

BEMTARERE: Y =AK L™ FHERGEEEE MPL=aY/K. (10 43)

. ESELL TN AEERE: F(KL) =';{—= 5 L AR E bR U AR S B AR 2 - AR B R [

HUEERE 7 s raint EAEE AR - (10 97)
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